> A
A & 0l & AF 2 E A A
SA CADIS
Bu: HOI2 58X Hel(BAPS/HIIE)
ool HOI2 SEX el CERED
SH-HH . BASH) - ABAMY - BES 0 aF p[EsL HRE2
S AIOI 32t 35,608,726 32,521,551 3,087,175
= 1,818,200 1,818,200 0
=) 9,900 9,900 0
Al 33,780,626 30,693,451 3,087,175
HOI2 §8X Hel(#2ES/HIIS) 34,134,683 31,657,508 2,477,175
= 1,818,200 1,818,200 0
< 9,900 9,900 0
Al 32,306,583 29,829,408 2,477,175
HII=2 28 Ml 19,318,040 19,299, 866 18,174
= 16,200 16,200 0
< 5,400 5,400 0
Al 19,296,440 19,278,266 18,174
HOISHMc 22 - 25238 261,047 245,873 15,174
= 16,200 16,200 0
< 5,400 5,400 0
Al 239,447 224,273 15,174
301 e Az 76,387 61,213 15,174
12 J|EtE 4= 76,387 61,213 15,174
O AdIol 2HM =0 76,387 61,213 15,174
o QAWM 2 & 14,650,000 14,650 10,882 3,768
o S & Z2& 2,139,000 2,139 1,426 713
o SEREXAS 2 & 32,081,000 32,081 21,388 10,693
HIISSEH F 428,230 425,230 3,000
401 AIEHI L 20 3,000 0 3,000
01 A& HI 3,000 0 3,000
O &8 SIIXSY Y| DEA 2AI0H
[=BN 1,500,000& * 2CH 3,000 0 3,000
e et WEE 442,915 430,809 12,106
= 2,000 2,000 0
S 4,500 4,500 0
Al 436,415 424,309 12,106
SASF HIIE 28 =& 104,760 96,450 8,310
201 Lt 15,420 7,110 8,310
01 At 22l 15,420 7,110 8,310
O el 15,420 7,110 8,310
o BEZY SA2E HIIS +42 ZH
S2= MA 8,310 0 8,310
- AEIH HEH 1,600& = 1,6000H 2,560 0 2,560
- X M= 90& + 60,0000H 5,400 0 5,400
- 8= MEH 70,0003 » 50H A 350 0 350
Hag 2cl=A 334,405 330,609 3,796
= 2,000 2,000 0
< 4,500 4,500 0
Al 327,905 324,109 3,796




M ZAlOISH

BH: M2 58X Hel(BBBS/HIIS)
Sl XRO Hol WEES (25 & @)
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
101 9121 bl 199,501 195,705 3,796
04 IAH2EHSEES 199,501 195,705 3,796
O MEB a4 ARy 199,501 195,705 3.796
o EIXZ 42,370 * 302  1,0002 /3652 3.796 0 3,796
MEHOIZ Mg =25 14,373,728 11,926,833 2,446,895
2 1,800,000 1,800,000 0
Al 12,573,728 10, 126,833 2,446,895
HOI2HANE 29 8,517,368 6,751,973 1,765,395
307 212H0I ® 6,669,325 5,976,930 692,395
05 BRI 6,669,325 5,976,930 692,395
O SANYHIIZ SeH2NE 2 HE
A 4,362,395,0008 4,362,395 3,820,000 542,395
O M155 BHE "Zat¥l" D= PAY 150,000 0 150,000
© TAE HII2 SEHIAL
150,000,000 * 141 150,000 0 150,000
401 Al I 2 S O] 1,493,000 420,000 1,073,000
01 Al&H| 1,493,000 420,000 1,073,000
SAE HIIZ SERHUANL AY B L
TYBLTI RN L BI 44
20,000,0002 * 14} 20,000 0 20,000
O SANY HIIZ SeH2ME Fex 2X
0 2 A 1,440,000,000% 1,440,000 400,000 1,040,000
O NEE SXS4HIS 13,000 0 13,000
o THSOI23t MY DM mE £X blg
13,000,0008 * 14! 13,000 0 13,000
SOE HIIZ SEHAANL XA 1,201,500 610,000 591,500
INEEEE 1,201,500 610,000 591,500
01 A&l 1,197,657 606, 157 591,500
O H155 EBHZ "Zat¥l" Tis)= 2AY 591,500 0 591,500
o BFE NS S0E HIIE SEHANL
450,000,000 * 14! 450,000 0 450,000
o MAMB B S0E HIIE SEHAAL
108,000,000 * 141 108,000 0 108,000
o 2o 29% S0E HII2 SEHANL
30,000,0002 + 14 30,000 0 30,000
o MMB XT S0E HIIE SEHAAL
3,500,008 * 141 3,500 0 3,500
HHOIbASE H2lAl& & XA 790,000 700,000 90,000
401 Al I S O] 790,000 700,000 90,000
01 Al&H| 784,780 695,590 89,190
O BHOIRtAS HelA& SHA HEAL &
% Al A 784,780,0008 784,780 695,590 89,190
03 Al& = CH | 5,220 4,410 810




2AMd: TAOIS D
M HIIE Ss28 HA(BFEES/HIIES)
Hel: MEHIIS Mg &5 (Sl & &)
SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
O HHOIRItASE MelAld SH== MEAE &
XA Z & 5,220,000 5,220 4,410 810
WS (ZADSD) (#EES/HIIE) 1,370,084 760,084 610,000
WEHHX = 1,360,000 750,000 610,000
HEHAH X = 1,360,000 750,000 610,000
02 JI=s8ES 1,360,000 750,000 610,000
0ol=ds= 1,360,000 750,000 610,000
O HIISANE ZXJ1s &8 610,000 0 610,000
o TAEY HIIES SEXMIAE dE3A 2
# FUEAS =4 610,000,000& = 14l 610,000 0 610,000






